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Directions: Identify the underlined word or phrase that must be changed in order for the
sentence to be correct.

1- Anyone reproducing copyrighted works without the permission of the holders of the
copyrights

1
are breaking the law.
2 3 4
2- From space, astronauts are able to clearly see the outline of the whole Earth.
1 2 3 4

3- Some conifers, that is, tree that have cones, are able to thrive on poor soil.
1 2 3 4

Vocabulary

Directions: Choose the word or phrase 1), 2), 3), or 4) that best replaces the underlined word
in the given sentence.

4- 1 knew from Inga’s curt reply that she was offended by my question.
1) vivacious 2) brusque 3) sinister 4) garrulous
5- The deadline has been moved to this Friday, so we must accelerate our efforts and

complete the project earlier than we had planned.
1) ruminate 2) burnish 3) pilfer 4) expedite




LIS

CAFETADRIS.COM

(e e :zlob) 209 (Juas ;;LJ 9 Sl

Sl iz 256 10 5l e NXM a8 ol Jlaiol g Slssl 4 6 ) 615N g m 51 -5

— O
vy
r
— (v
|
Yl
— (¢
vy
f
— (f
|

Sl yai> N Hlake sl Yoo <N <\Ye S1-V
etls patl3s s 3ladly oS e O 1 1,02 31 (Il

ol sl oy (5l o i e L3 US55 el 5 0T 3 48 i 5 Kamw B0 slagy355 3590 53 Lol <A
Auilens 0L g, 5l 5L 0,Lgs b aisS” oo dogb el 93 3905 8 o el i Sl a9 s (5,)L lag 345
S o 3 |y JKe ol gt (5l Aonion 31 5,8 K5 b 15 aencs Olaiesils bl oS’ o | pgac k5
Sols &k 5| 5 i (w55 50 53 b las slesl bl sl 15 i plS & s

Sailu) JBlas a1y lag,o95 03,5 55U sl p3¥ Olos e Olgs (o LT ()

U o Oliaats chlein (5lag 595 at pos b 1y 5 2 (5lbg g5 e puo LT (Y

Sl )5 0 69T plas 5 0o Sk (0 slagsss Sl p3m Uil pe Juls LT (¥

S i3 o 5 o sl 3l o0lizal U ) Ol 5 33k 1 Atilys Ciliseo Sla¥ 0 S g5 Jlo 4, b LT (F




LIS

CAFETADRIS.COM

(LS Lo, izl ,b) Vol (sog0e oLy

Y OX ) v v .
V#elila (YU +uv)a—dwl;>.mb UX—YWY =e o XU  +W' =¥ .y=y(U,V) X=X(U,V) 15 ,5,5 -4
u

(v—ru)y (¥ (u—¥xv)y (
(fu—v)x (f (u+fv)x (¥
X-y
Sl plaS (o)) dhais ;5 Z=—— o 5> -\
plas () abis > xiry &
\
1 2o ()
» o
\ (f b)lJJJ?(YV

Sl plas X"+ YT +27 =v0 b b F(X,Y,2) =YX+ 5Y +19Z 8 paySTlo -1 )
£0 ()

g (v

of (v
V- (f

Sl a3 plas” il F(X,Y) =YX —sxy + Y7 as 55 1Y
A (D90 asins bls (1,)) 5 (o) O
el srd9n war3Sla abi (1) 9 s 4k (5,°) (¥
sl gy abis (1)) 5 srd9e posie abiis (o°) (F
sl ridga mogie 4k (1)) 5 o) abis(e,0) (F

Sl pLAS X =YY +YZ = o alslan &) slamio s5lga 5 TX H15YT +AZT =1 Jlg i 2 oles dmios 55 alusls -1

—~ — —~
— [~ —

B R T
=




